500 HEF 510 FIHZFFS 511 IR ZFFS 511-01 IR ZF
o AF o At = 7] S
193,275,401
Sumzos 159,897,996
Sumzos 159,897,996
146,652,183 | O LA A et A5 I 2AL 0] 17,688,0009 = 17,688
OALASwA 92770 A) 10,080,000 = 10,080
O SAFA =AY &9 68,040,000 = 68,040
OA T LEFAIY T g 28 38,582,0009] = 38,582
O%FeliQl &5 2] 1,610,000 = 1,610
OS] HAAE F82F B S 603,579,000 = 603,579
OFoldRnE2F 7 5HAAY 134,167,000 = 134,167
O71 2SR A AAFI(13,0007) 20,847,340,0009 = 20,847,340
O71 2SR A 459 (13,0009) 2,672,736,0009 = 2,672,736
O71 2SR ALY 25591 (1,600) 840,800,0009 = 840,800
OFEHEAAY 520,139,000 = 520,139
O AAadd Agdd 9 Ad A5 690,000,000 = 690,000
OAZFeld Fe7| RS 1,600,000¢ = 1,600
OAgALY Fofzt =4 A4 105,600,000 = 105,600




500 HEF 510 FIHZFFS 511 IR ZFFS 511-01 IR 2T
e =5
p—— = o AF o s = 7] S
%g;i%% O3 #1<1(2,40078) 806,400,000 806,400
O oot A4 (30%) 12,600,000 12,600
Ol ul5u] #21(2678) 18,444,000 18,444
OZell oJsr] #4(916%) 56,872,000 56,872
OAGEREZs Fold AR =77 A4 2,400,000 2,400
OAd+A7]3 FH] 119,000,000 119,000
OFLd A&AAdH &9 35,000,000 35,000
OAEA Y ATz a3 FH] 24,000,000 24,000
ORIZH9 e A& 2 ALY 644,168,000 644,168
O712ERAGAY FAT =3 128,000,000 128,000
OAZY ALZZAY 330,024,000¢ 330,024
O7FAF - 1H =91 AL 480,000,000 480,000
O LA ALY 1] 271,000,000 271,000
O74 =<5 (4,000%) 1,444,800,000¢ 1,444,800
OAlH ol EH AR 7l R 15,000,000 15,000
OxJQAZ8GAA e R AH] A ¢ 150,000,000 150,000
OaTFEIAH ZE N7 A LA 37,500,000 37,500




500 X =E=w 510 =il HFF5 511 iR FT5 511-01 =X ZFw

e =5
p—— = o AF o s = 7] S
%%;i()zll O+ A B ALY 20,000,000 = 20,000
R B ]
O Ags 55 126,357,0009 = 126,357
OFd=9 F A RAAY 20,000,0009 = 20,000
OALE EA7HE A9 278,120,0009 = 278,120
OA LS FA7HE A4 62,200,0009 = 62,200
OAg 2 BAAY AZae)y] 1,350,000 = 1,350
OFdd Dot 51 Ad 120,000,0009 = 120,000
O EHH A FTAAL w5H] 450,000¢] = 450
O7Hg &4yl af 2t A 2H A 876,000¢) = 876
O &4 932t 2 84 1,535,000¢ = 1,535
OXA7I A LAY A &G H] 50,000,000 = 50,000
ORF 4T 94 27,516,0009 = 27,516
O7F g E& a2 BIAAE G H] 25,900,0009 = 25,900
Os&A% F+rts §4 75,000,000 = 75,000
O7Fg¥&e szt A w3y T2 ¢F 23,200,0009 = 23,200
OHdA2dHE &9z 30,000,000¢ = 30,000
OAF2AFdd 2203 S92 5,000,0009 = 5,000




500 X =E=w 510 =il HFF5 511 iR FT5 511-01 =X ZFw

e =5
p—— = o AF o At = 7] S
s oF ESSE MRS E B 14,520,009 = 14,520
OwAFaols 28 A4 413,850,0009 = 413,850
OAHolsAE gn] A< 192,000,0009 = 192,000
ORSAE BRET(H3EH]) 3,608,999,0009 = 3,608,999
ORFAA WA L F-4] 199,224,000 = 199,224
ORFAA AR v 11,550,000 = 11,550
ORFAA FAAE Q1x14] 2,002,376,0009 = 2,002,376
OAFAY BEAA u]n) 19,000,000¢] = 19,000
ORFAL BFuFu] 29 12,150,000¢] = 12,150
OolsEAAE 75 R (FFFord) 146,885,0009 = 146,885
ORFA Y BEAA 71520 ONRF) 75,000,0009 = 75,000
OARAY BEAA 7SR A(ZNZE) 148,785,000 = 148,785
ORSFARALAY HXH| 60,000,000 = 60,000
O - 3¢ BHEAA A= 150,480,0009) = 150,480
Ol 4 shAH 1,420,000,0009 = 1,420,000
Qo5& Jafol Al d AR A ALY 1,000,0009 = 1,000
OAg&F AEAIE AAALY 1,054,000,0009 = 1,054,000
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500 HEF 510 FIHZFFS 511 IR ZFFS 511-01 IR ZF
e =5
o AF o At = 7] S
g8 =

s O4EHA FA A 525,369,000 325,369
On&FXFH FARSH 79,683,000 79,683
O EA g T 73] 17,000,000 17,000
OA A BA]2=H F-FHAY 1,843,000,000¢ 1,843,000
O EiA -3 &2 (Fa~29) AE 20,700,000,000¢ 20,700,000
OzxA~3l¥zt FA =2 FAL 5,000,000,000 5,000,000

O+ AlE~ A (S~ 7H EZ A S AL
9,400,000,000 9,400,000
OFHMIC Aetate - FA 3,300,000,000 3,300,000
O ol R/ 1,600,000,000¢ 1,600,000
OFg9lold A Fd &G0 593,000 593
OS] wEEA LYA 9 3,600,000 3,600
OV S4us Juzf ofn] 570,000 570
OTHelE, g w5 2,040,000¢1 2,040
ORI BdaFAIA SFAY 19,500,000 19,500
OLEDAl 5.5 AX ALY 200,000,000 200,000
OHA7F2W 22 FH] BZE 225,000,000 225,000
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500 X =E=w 510 =il HFF5 511 iR FT5 511-01 =X ZFw

e =5
- = o AF ol s = 7] S
s ORFAE A7, A, BAY 12,500,009 = 12,500
=
OA oA 13,584,0009 = 13,584
Q= A oA 192,270,0009 = 192,270
O a4} 11,648,0009 = 11,648
O oAt 2,340,000¢) = 2,340
O=4 7|15 A 9,637,0009 = 9,637
OxgTTan 2,572,0009 = 2,572
Ogtul--fra 24 236,250,000 = 236,250
OFAE A g Al A AAH 160,200,0009 = 160,200
O &AM 17,000,0009 = 17,000
OFAFE R (20 W FANY 7,000,0009 = 7,000
O&d74 94K DB} Q174 4,897,0009 = 4,897
OsddY 712749 wAA = 1,000,0009 = 1,000
OAE ALY 244 73 300,000¢] = 300
OARS AEx S5 4,400,0009 = 4,400
OFAELSRA BAH 1,260,000 = 1,260
Os7M3 04" AAFFH AAHE wj2n] 700,000 = 700
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500 HEF 510 FIHZFFS 511 IR ZFFS 511-01 IR ZF
e =5
- = o AF o s = 7] S

s OXEA AAFAE HA71% A9 3,000,0009] 3,000
OFAAEsAARAA &= 67,000,000 67,000
OdHld =Ax A 30,000,000 30,000
OF7] S-ZFHFT LA 10,000,000 10,000
O%Hdl AF54 FTET 8,000,000 8,000
OEYMNEFA &= 233,381,000 233,381
OFEE7H7 9,000,000¢ 9,000
Ox 4 gg A= sz A A 21,700,000 21,700
OFgE sddA FNEA4H (1I0) 8,000,000 8,000
OAt W35 o Zx2AL(3%) 17,517,000 17,517

O&UFANE delif AA F532(25,000+)
613,025,000 613,025
OaF A4S 33 3A(1,200ha) 13,375,000 13,375
Oa7-A14 5 A1 (50ha) 35,945,000 35,945
O£ &9e] YF5AH20ha) 2,789,000 2,789
Og7IvkFArE] & 7FAvkEH A (10ha) 4,725,000 4,725
O%=a, A= oFAIA)(20ha) 933,000 933
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500 X =E=w 510 =il HFF5 511 iR FT5 511-01 =X ZFw

e =5
p—— = o AF o s = 7] S
oll = 01, O% A (35ha) 68,000,0009] = 68,000
SR = BT , UL, LUV ’
O=7H"71A+ (500ha) 265,000,000 = 265,000
O=the & AYAY 47,180,0009 = 47,180
O=7H7] Ab=3 15,571,0009 = 15,571
O%71H7] 2be &8 v fX]9] 2,590,0009 = 2,590
O &£dzx4 (2km) 71,430,0009 = 71,430
ORog ojdga 5 53 ArAbyg (8) 2,856,000¢] = 2,856
OAFE A28t (40%) 67,680,0009 = 67,680
O2HEZIE} 2] 1,080,000 = 1,080
OAERS ARA ATy (SHAZ 3% 3,510,0009 = 3,510
OAFEA 75 1,800,0009 = 1,800
O2HEZIE &5 1] 2,100,0009) = 2,100
OARE A =7of ] 540,000¢) = 540
OdditE A7 Ald Bx 5,000,0009 = 5,000
O %3 A4 3,300,0009 = 3,300
O=wtF8 27k (100km) 1,470,0009 = 1,470
OAFEWA BA47]9] 3% F9 14,700,000 = 14,700
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500 X =E=w 510 =il HFF5 511 iR FT5 511-01 =X ZFw

e =5
p—— = o AF o s = 7] S
%%;i()zll OWEE 93a w5 182,0009) = 182
R B ]
OWEra AL A &G0 600,000 = 600
OA A3 FARZAAE 4] 70,800,0009 = 70,800
OR AL Stol wHejALd ] 7,296,0009 = 7,296
Oeflo] =714l T3 ofn] 1,164,000 = 1,164
Oello]= ZaA=}F 21 574] 5,544,000¢] = 5,544
O&EAHFH A LA H] 218,466,000 = 218,466
OAFR, Al Ao} =91 A LAY 39,786,0009 = 39,786
O3] AFA Ak A} o E 0] A LAY 203,890,000 = 203,890
Ozrot obE skt o B H| A YA 12,500,0009 = 12,500
OF-o 8 gl gkx} AY A B S0 825,000 = 825
Ol ZaE 3ro] F2AA 9| 56,655,000 = 56,655
Of=dT=2 Azl 9 A 5H]| 1,200,000 = 1,200
OAE3td AAd &sA1 < 21,000,0009 = 21,000
OFE AlazA A1 6,800,0009 = 6,800
Owsteta 91 A4 6,000,000¢] = 6,000
Ow3shd AHF=% 1H] 10,000,0009 = 10,000




500 HEF 510 FIHZFFS 511 IR ZFFS 511-01 IR ZF
e =5
- = o AF o s = 7] S
s O sHAL s 4AL 2014 5,850,000 5,850
O&FI L A5 300,000,000 300,000
Odete] Lt GujALY] 500,000,000 500,000
OYsg i GHALY 300,000,000 300,000
OwAd Ba784] 695,590,000 695,590
OF =3 BF78H] 70,000,000 70,000
OFEWH o T FRAN 140,000,000 140,000
OAzYg QA BFAN)| 60,000,000 60,000
O vIALY A A F-tiH] 4,410,000 4,410
OxlgstrFEA g A= g ozt 904,000,000 904,000
OXgstrFEA e d A= g A543 2,798,320,000¢ 2,798,320
OFolEntS strx g Ald AX 3,500,000,000¢ 3,500,000
Oxl#E st dAgAIE A4 12,890,000,000 12,890,000
Ot dA g A4 A4 3,397,000,000¢) 3,397,000
OstEstrsdAgd T4 2,612,000,000¢ 2,612,000
OgtEatrFdA g A=A gAld A 3,868,000,000¢ 3,868,000
O sstrTEAgAId 14 867,000,000 867,000




500 HEF 510 FIHZFFS 511 IR ZFFS 511-01 IR ZF
e =5
- = o AF o s = 7] S
Ll OWEs+EHAYA Y A4 1,800,000, 000) 1,800,000
Ot Al AAsAAd A A 864,000,000 864,000
Ostrsdl Al AAstA A A A o] &}4gk 57,000,000 57,000
OFA-Ast A4 84 19,000, 000,000 19,000,000
R S 11,934,800 Ol Axe) A 25,000,0009] 25,000
O3 G ofAlol = By 120,000,000 120,000
OF A FF2 =44 300,000,000 300,000
OMNEA G- FRIsAA 2,100,000,000¢ 2,100,000
OEANA LS FASAE NAAE (29A]) 850,000,000 850,000
O3t=F4 A 800,000,000 800,000
Ox#E8FA WA 1,490,000,000¢ 1,490,000
OAH AL =444 400,000,000 400,000
OLEAF AXEFHAFNEALY 200,000,000¢ 200,000
Oz AT L7 RHg ALY 316,000,000 316,000
Oghdoin] &7 88,000,000 88,000
O71 A3 42z 3 LAY 250,000,000 250,000
O7F AT -8 A A Q2 A 239,000,000 239,000




511-02 F7hE @508 AR E T

7] ES

A =
O9A™ ALA
O%AE A FEAE 47
OBFEZHAY
O =AA

O7Fok AL Elvbsta 24
O7FokAL 29-A 244

O=dlelota A3l =4AY

300,000,000
554,000,000

50,000,000¢!
352,800,000¢
500,000,000

500,000,000

2,500,000,000¢

300,000
554,000

50,000
352,800
500,000
500,000

2,500,000

1,311,013

OXANTFA(FIAHE AT % RALSH)

O 31735 X HUBR. A AL H]
O=7keha] Ak

1,000,000,000¢
30,000,000
37,200,000
2,500,000
10,200,000¢
30,000,000
197,913,000

3,200,000

1,000,000
30,000
37,200

2,500
10,200
30,000

197,913

3,200

33,377,405




521 Al - EH| R EH5 521-01 Al - E=H| R Z2F5

3}
o AF ol s = 7] S
33,377,405
33,377,405| O G5 &) AHFA A5 150,000,0009 = 150,000
OA43] A=A AGAAGFF7H] 40,431,0009) = 40,431
OAre & nAqF7] Am+< 5,950,000 = 5,950
OM kS A =2 A e+ 12,188,0009 = 12,188
OALASwA 9 (277h ) 20,160,0009] = 20,160
Oojdol Al 9 4,400,0009 = 4,400
OFAAAwA 9 4,400,0009 = 4,400
OFF=JAASwe &9 4,800,000¢] = 4,800
O LA S &9 2,600,000¢] = 2,600
O=duad Aad AS5ush 1,400,0009 = 1,400
O LA SALEA G 9 1,000,0009 = 1,000
Ool22l A WA &A =2} v %] 2] 9,720,0009 = 9,720
OFfFrdituls ASAIE X 50,000,0009 = 50,000
OQs&FT AF Fsah A 100,000,0009 = 100,000
OFF& ASAA A4 60,000,0009 = 60,000
OAH3Inks S sAL Y 20,000,0009 = 20,000




CEHRZREE 521-01 A - EH| R FF5

2k = 7] S
OAloETF d83Ms 21,516,0009 = 21,516
Ozx1% 7R ATD) 3|4 = 17,256,000 = 17,256
OBt e dAts3 7,200,000¢] = 7,200
OERIAgrFE H o2 xAL 54 9,550,000 = 9,550
OAFS| EA A1 G8-2 B35 H] 75,447,000 = 75,447
OAFS| BRI A F82F EAF-2H] 3,050,000¢] = 3,050
OAFS| EA A 84 A& A7 3,050,0009 = 3,050
OAFS| BRI A F82F F7H7-2] 1] 16,699,000¢] = 16,699
OALS A A FAAL 3 293,800,000 = 293,800
OANLFAE FGu(1H2) 239,573,000 = 239,573
OAN L FAI A 3af A efn] 61,320,0009 = 61,320
OFA LG E Anjg Azn] 6,870,0009 = 6,870

212,076,0009 = 212,076
O34l 7 sHF5H(207) 2,000,0009 = 2,000
Ol BEAE BEY ok (89) 7,300,0009 = 7,300
OAsNAl F3tzA MY G0 25,570,000 = 25,570
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521-01 A -

17,000
28,959
21,600
98,089
17,903
98,520
42,210
41,009
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17,000,000
28,959,000
21,600,000
98,089,000
17,903,000
98,520,000
42,210,000
41,009,000
15,000,000
45,000,000

1,000,000

2,500,000

fud

<

5

OFeld ALEotel A

60,000

il

60,000,000

N

7o
of
ol

<
o
=0

- EH| B 2SS

521 A

- EHHEFE

Hr

520 Al

500 X =E=w

31,235
10,000
80,499

2,605,918

o]

L,
5

<

L,
5

<

L,
5

<

5

31,235,000
10,000,000
80,499,000

2,605,918,000

O7| 2 gAY 75 (13,0007)
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CEHRZREE 521-01 A - EH| R FF5

At = 7] S
O71 2SR A FA751(13,0007) 334,092,000 = 334,092
O71 2SR ALY 25591(1,600) 105,100,0009 = 105,100
OA7FEeiQl FEHE 800,000¢) = 800
Ol &A4ns A= 2% 50,000,000 = 50,000
O3ds A=3 1¢ 50,000,000 = 50,000
Osds 429 50,000,0009 = 50,000
Oxla 5244 65,017,000 = 65,017
OAPAANaGd Agda 2 AF = 690,000,000 = 690,000
O3y u&Ez S 4,800,00091 = 4,800
OA&ALY Fofzt =4 A4 13,200,000 = 13,200
OssdNd FAGAE NI 3,000,0009 = 3,000
OF 533N &4 % A(57) 2,000,0009 = 2,000
OF 534Nl A FH 51 A< 1,200,0009) = 1,200
O 7ol 7437 By 4,400,0009 = 4,400
Ol #(2,400%8 ) 144,000,0009 = 144,000
Ol dsdAo] A43d) 4,000,0009] = 4,000
OA&A7]3 &FH] 25,500,0009 = 25,500




7] =

7,500,000 = 7,500
10,400,000 = 10,400
200,000 = 200
80,521,000 = 80,521
16,000,000 = 16,000
41,253,000 = 41,253
83,640,000 = 83,640
15,000,000 = 15,000
135,500,000 = 135,500
450,049,000¢ = 450,049
484,000 = 484
309,600,000¢ = 309,600
19,260,000 = 19,260
88,440,000 = 88,440
35,369,000 = 35,369
95,062,000 = 95,062

128,670,000 = 128,670




CEHRZREE 521-01 A - EH| R FF5

2k = 7] S
O7H 88 M FAAA 98] XD (27xn) 74,981,0009 = 74,981
OB ZAFdH Ad12704) 34,694,0009 = 34,694
OAN7FAA =1 A AP ALY (117) 12,750,000¢] = 12,750
ORI &5 A1) 2,880,0009 = 2,880
Odldstszd 98] A< 1,500,0009] = 1,500
OFF24Ad FnAAd@HNE) 4,200,0009 = 4,200
OAlYoEH 94 A4 30,000,0009 = 30,000
OAlH ol EH AR 7l R 7,500,0009 = 7,500
O Z oG A Frjr7dn A d 75,000,0009 = 75,000
OxFTdEATEF A 83,981,0009 = 83,981
OFHRIAE +J3AY 22,177,0009 = 22,177
O7FHg8AHd FAAA 9 A9 37,490,000 = 37,490
OAAH] AR BAA 12,000,0009 = 12,000
OAAd Ags 55 75,814,0009 = 75,814
OF8E59 A A RAAY 12,000,000¢] = 12,000
O d 7ol dxe] F=AY 715w 10,000,0009 = 10,000
Ol a7 dustul &9 6,000,0009 = 6,000
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=

OAHLSAF A3l 18 71} vl
OAAEALA WS35 1A
O7F=5a9] Ad-eArg s

OA A BALE 5 AFHA
OALE A7 A Y
OAAXE BA714 A

O%¥7hES 1 A QALY
=)

O7Hg F# v ez A 5 HAL]

2,500,000
600,000
1,000,000¢
10,000,000
480,000

2,160,000

120,000,000

45,000,000

2,500,000

1,100,000¢

20,859,000

4,665,000

33,350,000

5,000,000¢
50,000,000¢!
3,240,000

438,000¢

2,500
600
1,000
10,000
480

2,160

120,000

45,000

2,500

1,100

20,859

4,665

33,350

5,000
50,000
3,240

438
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CEHRZREE 521-01 A - EH| R FF5

2k = 7] S
O F g a ez A 5AY 767,000¢) = 767
OXEARSAIAE g G0 27,000,0009 = 27,000
OXA7I A DAY A &G H 25,000,0009 = 25,000
O7HA . 3E&Y Aun] LA R 1,500,0009 = 1,500
ORF T 94 13,758,0009 = 13,758
O7P & T 94 7,500,0009 = 7,500
O7FgE a2 BIAAE &G H] 12,463,000¢] = 12,463
OAZEAANAE TAA AF-9 500,000¢) = 500
O%&xRl A EvE §4 1,000,0009] = 1,000
OF&yd B4MA Aldnks $4 1,500,0009] = 1,500
OaHA w9ud &9 1,000,0009 = 1,000
O 7MdAy AdESs 2 Au <] 30,000,0009 = 30,000

1,000,000 = 1,000
O8HE A2 IFHW B 30,000,000 = 30,000
OFaddeda Aad 09 14,440,000 = 14,440
OH2dEIH" HadA AL v =] 1 71H] 7,200,0009 = 7,200




521-01 A -

1,900
672
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672,000
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4,280,000
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30,000,000

5,000

il

5,000,000
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o
ofy

gyl

4

X

- EHHEFE

521 A

- EHHEFE

Hr

520 Al

500 X =E=w

35,000
054
9,360
750
4,637
3,276
680,445

A
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5
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L,
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<
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fua

<

5

35,000,000
554,000
9,360,000
750,000
4,637,000
3,276,000
680,445,000

fud
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O2daU7HEAIY B on]

o7V




=

i

1,500,000¢
6,920,000¢
16,500,000¢
1,200,000¢
142,564,000

96,000,000

1,443,600,000¢

79,690,000¢!
4,635,000

24,340,000
800,950,000

53,760,000¢
7,600,000
4,860,000
44,065,000
30,000,000

59,514,000¢!

1,500
6,920
16,500
1,200
142,564
96,000
1,443,600
79,690
4,635
24,340
800,950
53,760
7,600
4,860
44,065
30,000

59,514




500 M. CEH R RIS 521-01 A] - EH| R ZFS
Ak = 7] %
ORSHRAJAMNE A X]H] 36,000,0009 = 36,000
OAl Ao} o] % ukAo} BE7 =Y 634,818,000¢ = 634,818
ORSAIA ol AATAYH] A Y 93,330,000¢= 93,330
O - 3¢ BEAA A= 60,192,000 60,192
O&l e A gAY 304,000,000 304,000
Ol % & yafd Al AXAAAY 4,000,000 4,000
O sE=Z 3 525 A= 16,600,000 16,600
OMEEF AHAAE HAALY 702,000,000 702,000
OFvd 2 sy F=x 1A 8,000,000 8,000
OFFAANAIZEA FUF FLH] 2,400,000 2,400
OEAA FoF 7% v 8,000,000 8,000
O&H3AZ olAlo|=F B 40,000,000 40,000
OFFTL2AF H] 57,500,000 57,500
Ot HsAF A JlES 50,000,000 50,000
OFZA- AHAMN AT 9,241,000 9,241
O= « FFALF e x4} 13,500,000 13,500
O YA A= A2reAtY 68,200,000 68,200




500 K ZF CEH R RIS 521-01 A] - EH| R ZFS
Ak = 7] ES
O/NdA e+ FRlsAAY 270,000,000 270,000
OEAALE FASANHAAYG (2HEA]) 425,000,000 425,000
OFAHA S Y 2444 200,000,000 200,000
OTshle5 A% AAXE AXA 30,000,000 30,000
OsERAANAY (=8,750)

- AAY(25%) 350,000 = 25% = 8,750
Ogk x|+ wk7]akg v ALY 40,000,000 40,000
Oghatgiy] 857 HALY 11,000,000 11,000
O71 A A == & Y 31,000,000 31,000
O7F A g 7-8 A A Z A 30,000,000 30,000
O AH 7eALA 43,000,000 43,000
Ot F-2 &g v (27]42) 300,000,000 300,000
Ostd X &2 108,000,000 108,000
ORY sxdd F2A33 =24 50,000,000 50,000
Ox9u4d 2 SF74H] 100,000,000 100,000
OR-IZICAE =27 =2 /)4 FAF (1,=650m, B=15m)

1,000,000,000¢ 1,000,000




521-01 A -
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- EHHEFE

521 A

- EHHEFE

Hr

520 Al

500 X =E=w

2,520
399
1,428
10,350
18,000
1,500
300
50,000
60,000
13,650
112,500
298,863
45,000
5,000
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2,520,000
399,000
1,428,000
10,350,000
18,000,000
1,500,000
300,000
50,000,000
60,000,000
13,650,000
112,500,000
298,863,000
45,000,000
5,000,000
180,000

A= (=110,000)
F+<4 (5,260ha)

2~ €l
=
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=

O A ol g==A
O% AL
O drg5At
O=4 7145 74

2,500,000
27,150,000
1,528,000¢
12,324,000¢
23,040,000
6,220,000
6,250,000
2,908,000
40,602,000
2,224,000
500,000
2,061,000
49,720,000
33,750,000
89,000,000¢!
5,100,000¢

10,800,000

2,500
27,150
1,528
12,324
23,040
6,220
6,250
2,908
40,602
2,224
500
2,061
49,720
33,750
89,000
5,100

10,800




=
3,000,000 = 3,000
30,152,000 = 30,152
12,000,0009 = 12,000
10,800,0009 = 10,800
12,000,0009 = 12,000
2,700,000¢ = 2,700
40,000,000 = 40,000
33,000,000 = 33,000
19,200,0009 = 19,200
22,000,000 = 22,000
3,803,000 = 3,803
5,400,000¢ = 5,400
22,000,000 = 22,000
2,500,000¢ = 2,500
10,829,0009 = 10,829
1,310,0009 = 1,310
1,000,0009 = 1,000




- EHHEFE

=

OFd<d

L.

A 3 A9

1,320,000¢
60,984 ,000¢!
57,000,000¢!
30,000,000
245,000,000
185,000,000
300,000,000
14,400,000¢
18,900,000¢
10,800,000
8,800,000¢
6,000,000
1,620,000¢
3,000,000

1,200,000¢

960,000

900,000

1,320
60,984
57,000
30,000

245,000
185,000
300,000
14,400
18,900
10,800

8,800

6,000

1,620

3,000

1,200

960

900




CEHRZREE 521-01 A - EH| R FF5

At = 7] S
OH HaF 2FAA]A(100%) 5,220,000¢] = 5,220
OAld ol ooje] 2 A Askd weAd 4,000,0009 = 4,000
OFEsd A=Y A28 A 6,000,000¢] = 6,000
OAlA e in] 8714 A3 = g 18,000,000¢] = 18,000
O3 1%54d FEsitE AdA A9 7,500,0009 = 7,500

5,000,0009 = 5,000
otE4 Ax7 &5 3,600,0009 = 3,600
OEY M&EA &= 19,259,0009 = 19,259
OF&%5 7HH7] 13,000,0009 = 13,000
Ox4gg A= sz A A 3,472,0009 = 3,472
O AdE ol & A7 A=A FFA F 6,000,000¢] = 6,000
O AAFAd9 W 2710 AW 1,500,0009] = 1,500
OWEsE uE4d 2 A 1,500,0009 = 1,500
Oz 8454 AAEA A 2,500,0009 = 2,500
OFZAFAE AL A7 FYAIH 1,000,0009 = 1,000
O F71s2A 794 Hals TAAH 3,000,000¢] = 3,000




500 H=E=w 520 Al - EH| R EF5 521 Al - EH| R EH5 521-01 Al - E=H| R Z2F5

e =5
o AF o At = 7] S
g8 =

A g 07164 A7 ENH) A A 40,000,0009) = 40,000
Ot E A=A (39) 8,296,000 8,296

O2UFAAST F&llE AA F5 22 (25,0004)
78,817,000 78,817
O AdE 33 3A(1,200ha) 831,000 831
O£ &9e] YF5AH20ha) 834,000 834
Og7IvkFArE] & 7FAvkH A (10ha) 1,417,000 1,417
O%=a, A= oFAIEA)(20ha) 309,000 309
Oa7-A14 5 A1 (50ha) 4,622,000 4,622
Ox4HAHY (35ha) 18,000,000 18,000
O=7H"71A+4 (500ha) 64,000,000 64,000
O=the & AYAY 6,191,000 6,191
Ox=7H7] Ab=3 4,671,000 4,671
O£71H7] 2be &8 v fx]9] 777,000 777
ORETH =3} 9 A5 73g 666,440,000 666,440
OAdA =34 (5,0004) 5,200,000 5,200
O%-2l 2424 (2kn) 21,428,000 21,428
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Hr
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CEHRZREE 521-01 A - EH| R FF5

2k = 7] S
OB +A4%4A ABAY 4,000,0009 = 4,000
OAA A FAHA 9,957,0009 = 9,957
OAJo}EHl-F- 714 Al<=H] 15,000,000 = 15,000
OxQl X B AAL] M 18,600,0009 = 18,600
O] B AALG H] 1,250,0009 = 1,250
O g e Aol &3 AR 17,504,0009 = 17,504
OA T Ffrobd g7 x| 327,0009 = 327
Omnlsol B AdH Aol ol o mu| A ALY B 36,600,000 = 36,600
OFfrot g FoFE Y0 16,138,0009 = 16,138
O, 34F, txe ol o] FoFEy] 3,122,000¢] = 3,122
OAARA o] A4 A= 47,000,0009 = 47,000
Osd=dy AbdH] 43,540,0009 = 43,540
OAZ52IAFAH] 28,645,0009 = 28,645
O A R (YA =4 F) 3,000,0009] = 3,000
OA| ol AlE 4] 1,250,0009) = 1,250
Ox AL Stel wHejALd ] 3,648,0009 = 3,648
O F5TZF AZN] 28,000,000 = 28,000




At = 7] S
Oeflo] =zt at X 9] 2,772,0009 = 2,772
O3] AR 3 A g}t o g H] A LA H] 101,945,0009 = 101,945
Oaro} obFehekal o B r[ X ALY H] 6,250,0009 = 6,250
O= 7t A} ] 98,957,0009 = 98,957
OxndY, Ay 1,600,0009 = 1,600
OF-o 8 gl gkx} AY A B S 825,000 = 825
Oshal aE 3ho] FRAA G| 56,655,000 = 56,655
O9= 22 A 2 X 54 1,200,0009 = 1,200
OAXEZT S7d% Z7HAXARH] 10,659,000¢] = 10,659
O&EAHFH A LA 109,233,0009 = 109,233
OAFR, Al Ao} =91 A LAY 4,973,0009 = 4,973
OFE AlazA A1 3,400,0009) = 3,400
Owsheta 91 A4 3,000,000¢] = 3,000
O7 eshAl Ak 12,000,0009 = 12,000
O 3HAE AL B 1A 5,850,000 = 5,850
O7FoFAA e vkt 24 150,000,0009 = 150,000
O7FokAb 294l Z=AAHY 150,000,0009 = 150,000
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- EHHEFE

521-01 A

- EHHEFE

}1\_]__

7] %=

O=dlelota A3l =4AY

Odal HHd=A7] FA

Odlte] it ArALY
OFsdaee AHAY

750,000,000
5,000,000¢
2,000,000
6,000,000
3,000,000
2,400,000
1,800,000¢
1,050,000¢

900,000
75,000,000¢!
50,000,000¢!
99,370,000¢!
10,000,000
20,000,000
35,000,000
32,000,000

55,000,000¢!

750,000
5,000
2,000
6,000
3,000
2,400
1,800
1,050

900
75,000
50,000
99,370
10,000
20,000
35,000
32,000

55,000




7] =
35,000,000 = 35,000
30,000,000¢ = 30,000
35,000,000 = 35,000
9,000,000¢ = 9,000
7,000,000 = 7,000
630,000¢) = 630
3,358,000¢ = 3,358
50,000,000 = 50,000
20,000,000¢ = 20,000
145,000,000 = 145,000
599,640,000 = 599,640
420,000,000¢ = 420,000
1,657,000,0009 = 1,657,000
972,000,000 = 972,000
437,000,000¢ = 437,000
1,158,000,0009 = 1,158,000
1,715,000,0009 = 1,715,000




500 H=E=w 520 Al - EH| R EF5 521 Al - EH| R EH5 521-01 Al - E=H| R Z2F5

e =5
o AF o s = 7] B
<, =
2%1. ;:_%%Ei%% OdsstrasdAgAd a4 186,000,0009 = 186,000
OdlsstrEdAgAA 1A 385,000,000 = 385,000
Owntatrie AgaAld AR ($A) 51,000,000 = 51,000
Ot Al AAsAAd A A 129,000,0009 = 129,000
OFA-Ast A4 84 2,750,000,0009 = 2,750,000
& Al 583,402,767
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